Hypertension NNT

NNT

· Easy to calculate from raw data

· Makes data easier to apply to patients

· = Reciprocal of absolute risk reduction or 1/ARR

· Does not include standardised units for time period and outcome

· Needs to be compared with NNH (numbers needed to harm)

· No cut-off in terms of effectiveness.

Some Interesting NNTs


Prevention of exercise induced angina with bisiprolol

2.8


Prevention of NSAID induced PUD with misoprostol

13


HP eradication with triple therapy



1.1


VTE prevention with grad. Compression stockings

9

Hypertension

Using the Framingham data, for a 60 year old non-smoking male non diabetic with a total cholesterol of 5:-




BP

%10yCVAr
%10yCVDr
NNT5y




120/80

2

20

37




130/85

3

22

33




140/90

3

24

30




150/95

4

25

28




160/100

5

28

24






170/105

6

31

21




180/110

8

34

19




190/115

9

37

18




200/120

11

39

16

Obviously this NNT means aspirin/statin as well as anti-hypertensives.

The relative risk reduction from treatment of hypertension remains the same at all ages, but the absolute risk of complications of hypertension is higher among older patients than younger at every level of blood pressure, so that the number needed to treat (NNT) to obtain the same benefit is lower in older adults. The NNT for five years to prevent one death for patients aged under 60 years is 167 whereas for patients aged over 60 years the NNT is 72.” – SIGN hypertension guidelines.
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